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CELL PHYSIOLOGY Special Lecture - Calculations for pH (Part II)
More pH problems:
What is the pH of each of the following solutions?
a) 10° HCI (/7“] = |X DR ; 73//2 ’/05[/0'3_]

b) 10 NaOH [_OHJ"’X/D 7_‘)0)'/ /OJDO ZJ
POH = 3.00; p/ﬂpOh‘ 14.0; ph=/4.0J00: /9.0

c) A mixture of equal volumes of 0.10 M acetic acid and 0.03 M sodium acetate
Ka FRom boolkk[rakle = 4 8
HOAC=H"+0A" Pﬂ=‘/.8r/05 (0.30)
P H= pKat /Qq [oA] o= 48— 0.523

[HoR] H= 428
73/7l- 4.8 f’/OJ %T?’oé' % —_—

The following chemicals are combined and diluted to a final volume of 1.75 L: 25 mL of 85%
phosphoric acid (density = 1.65 g/mL), 8S g of NaH:PO,, and 5.0 mL of 6.0 N HCl. What is the pH
of the resulting solution?
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W Na = - “l1z
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D @5aL #sPo)0.85X 16S3/m) = 2506 BP0y

@ (3. 06 g /é%)( '""' | = 0.258mol HzPoJ
(95& /Va-/ﬁPDu/Y/”D’ ) =0, 7% Mo /Vaﬂz Po,
@ (SnL Hee) o 4’”"’ )[V/L ) = 0.630 mo| HU

JOoom L
@ o 35’8m»//7’3/°04 £ 0030 mol H' = 0.388mol [HA] /1751 = 0.933M
0. 708 mol NalhPdy — 0.030mol H' = 0,678 mol (A1 /1751 = O.38TM

D ph A+l 255 = 238





